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‘Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Main component of natural gas is : -4 (7’ K ‘j{ 3/,3 1-1
Propyne c//._L';{ (D) Butane J«:}: ©) Propane (/27 (B) Methane (j.“;"“ (A)
A disease that causes bone and tooth damage is : fe S 2 J P 5.«1}' Z UFl s u,"uj 2
Jaundice 67 (D) Cholera .27 (C) Hepatitis u:’ /L‘\.,-,\.,.,\-g (B) Fluorosis J"G/:L’ (A)
About 99% atmosphere's mass lies with in : s 443 99 lg,/"’j § Ul ﬂ’/’ 3
¥ 11 kilometer (D) & 15 kilometer (C) ¥ 35 kilometer (B) HE 30 kilometer (A)
One of the following is a Lewis Base : , re o e Sioir |4
ALCty (D) H* () BF; (B) NH; (A)
One of these pollutant is found in car exhaust fumes : Lattgggut;'! K d/ /K cfg;:)}: o} J_f;’,.;mcf 5
H, (D) N, (C) 0; (B) CO, (A)
Matte is mixture of : £ ﬁf & |6
Cu,O and FeO | Cu,0 ;s FeO (B) FeS and CuO | FeS ,Cu0O (A)
CuS and FeQ | 'CuS » Fe® (D) Cu,S and FeS | Cu,S s FeS (C)
The Conjugate acid of HPOL%_ is : D e Al 7KK HPO,%" 7
H,PO, (D) H,P0; (C) H,PO;” (B) POy (A)
Oxidation of alkenes produce : fe G u’%fyfl' d/ ﬂﬂ’ 8
Formic acid A</’6 (D)  Oxalic acid M'J’ff (C) Glycol J,/JLK (B) Glyoxal fod’ﬁf (A)
The organic compounds used as drugs to control o el Sk L T/?»”ﬁl»g’.digufj@ 9
bleeding are :
Glycerides Ji”/.g (D) Lipids 7% (C) Proteins j25; (B) Vitamins #¢s (A)
One of the following organic compound is found in 13" P JJH‘/ VN .f | e J’; 24210
gasoline :
CiaHys (D) CyHyg (C) C3Hy (B) C,Hy (A
Colour of iodine is : | e K T
Red {~ (D) Purple {4 (C) Blue i (B) White 45~ (A)
Specific heat capacity of water is : fe e UK 3o S S W d g &.l: 12
247K (D) 24kJg7 KT (©) 42Jg7 'K (B) 42kJgT KT (A)
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10 2. Write short answers to any FIVE (5) questions : : ol A 4 A2 L =y (5) ég & Jf -2

(1) Predict the direction of chemical -ééf@%'d/ygfuigldﬁn(?b =K. 0. > K, ui'{'d/u’% (i)
reaction when Q¢ > K andQ, = K. .

(if) Define dynamic equilibrium and give an example. ..é:)dtﬁvﬂg‘f: bﬁ”f.f‘! ﬁ/d}g k.f. €15 (i)

(iii) What is ester functional group? Write its general formula. _é{ /;IJ/JGJ YA e y/.;:/ "'ﬂl (iii)

(iv) Justify that organic compounds are used as food. St L n &IN5 ks t{.@? !’.J/"&( <k (iv)

(V) Define the ketonic functional group with general formula. .27, UrsbJ 2 (u’u‘;:/...? /U.,;/;J"G J}f (v)

(Vi) What do you know about anthracite? -.‘é{ ; ?ujilgg._.r T‘,}L’? Lws VV;;! (vi)
(vii) Describe the hydrogenation of ethene and ethyne. -“é = U:)J u’:g/fﬂp(d/ B sl J.i 1 (vii)
(Vill) How does combustion of methane take place? - fe t‘n{f K&& (Methane) u:i.‘f (viii)
10 3. Write short answers to any FIVE (5) questions : : ol MY 4 f""’ L =i (5) ég ., G/ -3
(I) Why is a salt neutral? Explain with an example. -é& s J&s fe. breusd St (i)
(i) Name an acid used in the preservation of food. _Q(L‘KJ/.."V.GL!:L/E}“’;/J/} (i)

(ili) How can you justify that £ (OH)NO, e 2L i Pb (OH) NO, fugé/wu@@f (ifi)

is a basic salt?

(iv) How are proteins formed? S 5" 4/ '/‘:‘){ (iv)
(v) How is gelatin obtained? fe bl v S dj ' oalia (V)
(Vi) What are the effects of temporary hardness in water? Ut eist | L Jffzg d{/;:' d d!; (vi)
(vii) Mention disadvantages of detergents. -g;{ Uk et L L[p &5 (vii)

(Vi) What is difference between biodegradable and ?‘LJ/'qu:;?!Jﬁiéfd;f;uw&b;/d;ﬂ (viii)
non-biodegradable substances? -
10 4. Write short answers to any FIVE (5) questions : o =2 AL ey (5) ég & Jf -4

() What is global warming? e Y Bty J’y{ ()
(i) Write two effects of acid rain. Jav eIt O e A2 (i)
(iii) Write down two serious effects of ozone depletion. -é {f ey Y Liv L st (iii)
(iv). Give sources of CO and CO, (oxides of carbon). .y ];://rﬁ (CO,51C0) s22LS Téyﬂ/( (iv)

(V) Write chemical formulae of copper glance and chalcopyrite. -’&GL;OGL .bjf/fg:@ukf L({K (v)
(Vi) How ammonical brine is carbonated? Give reaction. -’&6 - Jﬁ d/ ‘f{ OIS J cf’/,gf"ﬂ (vi)

(vii) Write a note on granulation of urea. N Y u":”::/ S Ly (vi)
(viii) Write two uses of petroleum ether. 2 eyt gy L Al (3:/‘.-. (viii)
( PART -1II (12 )
Note : Attempt any TWO questions. ol el L ety pe §Fwy
5 S. (a) Explain the methods of removing permanent hardness. S S S f? /J:)’/s...bzitg () -5
4 (b) Explain reversible reaction with suitable example. -5 MU}Jd;g fd/%gzc,:xd/dl‘/ ()
2,3 6. (a) Whatis petroleum? Describe any three e Uk /,ﬁf/ d & L ffj’/z e v (3)}: (&) -6

fractions of petroleum.

2,2 (b) Describe any two chemical reactions of alkanes. ___é oo /.:E ld/dé‘f»:_ Ry /fq (<)

1,4 LI AT o lore e ~Ew i (L 7
7. (a) Define sait. Explain with examples how soluble salts are prepared?
2,2 (b) Write a note on types of vitamins. ~& G £V d/ Vd 7l (_,)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Coal having 90% carbon content is called : at‘Uw(; ru"cwir;lﬂf. B I QOU‘LIJ 1-1
Bituminous u’-”"“;f (D) Anthracite L/’/?L’ © Lignite &* Lﬁ (B) Peat & (A)
Vigorous reaction of water with --- shatter ; c‘_t‘/u’g ==t ,‘c"af L . d& e t‘lgﬂt_}‘/?.}@:/.(g 2

(glass wear) into small pieces :

Silicon €k (D) Strontium rﬁ// (C) Caesium £z (B) Sodium (£3» (A)
Acid rain effect the aquatic life by clogging fish  : 93// }C’f/p(}/‘ﬁfkf/'gﬁ( d/,ud T)u::"fde:ﬁruﬁ [ 423

gills because of :
Aluminium metal ﬂ-""/z‘:' (D) Mercury metal u’/// (C)  Chromium metal o (B) Lead metal 4/ (A)

One is a Lewis Base : I U4
ALCLy (D) H* (C) BF; (B) NH; (A)
Carbon monoxide is harmful to us because -—- : L f/ < o)uhaﬁ J. < "l/‘/fjr K15

It damages lung's tissue 4'.[5’ 14 bffﬁﬁ U2 / =~ (B) it paralyses the lungs c:.d 27 Z/)I“‘:ru; /‘f = (A)
It reduces oxygen carrying ability of haemogiobin ad:/{JWd/gbLnglJu’:Kf, (C)
It makes the blood coagulate 4.0' e /)’LU}% (D)

Identify that which product is used as jet fuel : C—VY‘JW’/})LJ}"J ../C!/L/ufc.u* u’ff =316
Fuel oil J/TJ:.’: (D) Diesel oiIJ’/TJz:‘ (C)  Lubricating oil J l..ﬁ’c/ (B)  Kerosene oil J’ !ui";,((A)
lon is the conjugate base of sulphuric acid : D JF .‘»ffl( ¥ M’J}f’"’ 7
HSO, (D) HSO; (C) % (B) SOF (A)
The order of reactivity of hydrogen halides with alkenes is: :g....g"}d/& # ldz&i’&f&uif%i L (Alkenes) /Ul 8
HBr < HC! (D) HC{ > HBr (C) HBr > HI (B) HI > HBr (A)
One of the following is a reducing sugar : - /j"" ué,;’,&:/ L gf}.?/,c«' 9
Starch &L (D) Sucrose J:/L Maltose J#\ (B) Glucose J:gg (A)
in Solvay's process slaked lime is used to : te bl lf JL’/’ 4’_ u/ e Lgin é 9 J/i/ «J-{10
Prepare quick lime c’.ﬁz_,/’/(.« (2ol (B) Prepare CO, 4.414/1: Co, (A)
FormNa, COy L L5/} Na, CO, (D) Recover ammonia &~/ bl (C)
At dynamic equilibrium - : s (e 2l J (-:/,Jd;":l LE1311
Reaction stops to proceed c"_t’igbﬁc,'&‘/.z Tf‘g s (A)

The amount of reactants and products are equal ‘Ldﬂf.’/.ﬂﬁ/d/u‘fb{uluﬁﬁ.@dj (B)
The speed of forward and reverse reaction are equal L YAVNY Ku:g 1Ss 2 18150346 (C)

The reaction can no longer be reversed t‘ru"} sk ]ui( I$s (D)
Gas used for cleaning swimming pool : & dr JW’ u‘/ 4"_ Z dw (f J;’ L4 12

Bromine ¢&1z (D) Fluorine ¢/## (C) Chlorine J/}K (B) lodine /3¢ T (A)
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10 2. Write short answers to any FIVE (5) questions : : ol AR /" L =y (5) ét e J/ -2
(i) What do you mean by equilibrium constant? S oy k/ e 2 y‘/’d;"/' Q)
(ii) What do you mean by extent of reaction? "c_. e = w J J{’UJ (i)
(iif) Why melting and boiling points of organic ‘U‘Lru/(f!i.ﬂb’/;lﬂf‘ézu vf..ﬁfz (i)
compounds are low?
(iv) Define pitch and coke. -é .y SH e (iv)
(v) Define catenation. Give an example. v > Je _ﬁ 3! Z: ...d/.’. J uyduf (v)
(vi) Define isomerism with an example. ey d{ JV 2! Zf ....v/’ J ,'J/Hl (vi)
(vii) Give structure formula of isopentane and isobutane. J Usr 6 // § u’rr’ (7)) u”’"r’ I (vii)
(viii) Why are the alkanes used as fuel? fe bl Y Je U Z W L Jib e /ﬂ (viii)
10 3. Write short answers to any FIVE (5) questions : f J L4 /" L < Yl (5) é& e Jf -3
(i) What is the function of DNA? e Lf K(DNA) PRIUALEN
(i) How plants synthesize carbohydrates? o b d/ J" I :/K PagY (II)
(iif) Give a balanced chemical equation for Clark's method. é’i’ o hls il 41. L ,.d)’ L ._‘/LK (i)
(iv) What is acute cadmium poisoning? e LJ .,C/U f"/ A4 (iv)
(v) Write a note on disease cholera. -é."'/ Sy djir d/ ~47 (V)
(vi) Why is a sait neutral? Give an example. - -i) JV ..f "c_. ] u/ J/r I (vi)

(vii) Write the name of two acids used in -&’7 ’t Lokt d nin JWI e Sy d/ u/llf/ (vii)
manufacturing of fertilizers.

(viii) Define pH. What is pH of pure water? ?§_ (,?/ pH d/ GE gfjlé -c{ .JJ/J J pH (viii)
10 4. Write short answers to any FIVE (5) questions : o o CHRE 4 /;; L iy (5) ét & Jf -4

(i) Describe the chemistry of removing the temporary -c{ ubd//‘{ JL/Z»J‘ 3 u’//d:/v’ U:( dL (i)

hardness by boiling water.

(il) What is the function of fertilizers? T (K VK I (i)

(iii) State the method of swimming pool cleaning. _é Uk .e!/l’ K dhw d/ J:’ L (i)

(iv) What is boiling point of water? S Y 598 L ¥ dt (iv)

(V) Define ores. -i - J (V)

(vi) What is function of pivot? fae s (68 ey (Vi)

(vii) Name the raw materials used in Solvay process. -é/f( bﬁ)/’ULbé,fJW'u’ u’/i/;:’l/ (vii)
(viii) Write the formula of slaked lime. : 24 U § b e W (viii)

( PART-1I /» .)
Note : Attempt any TWO questions. W er ety we 8 i od

2,3 5. (a) Whatis difference between soft water and hard -ﬁatuﬁfjbbg ?4,0/1;@5/’.‘55/9»&)% (W) .5
water? Write disadvantages of hard water.

1,1,1,1  (b) Write macroscopic characteristics of dynamic equilibrium.- & oyﬁ{;ﬁf«;ﬁﬁjd)@lﬁﬂ ()

1,4 6. (a) Whatis the percentage of nitrogen in urea? ‘_‘é{f:«dlg(_pg ?cL.."bflz‘ﬁ'MéJuz)f/tufpg (W) .6
Write down importance of urea. )

1,1,1,1  (b) Write any four uses of ethene. & e e & L (Ethene) u:‘,;t.-’ ()

5 7. (a) Give sources of five different naturally -gf.:”/f'/méjklﬂégc'_!;L(gé.t,;u}’d/ﬁ () 27
occurring acids.

4 {(b) Carbohydrates provide different usage to _éu»u, ‘J’é_/bu U’Jf(’g/lru'u.wyh( (o)

our body. Explain.
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